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) The function f (x)=x" is
W4 | Power Exponential Logarithmic [D] Trigonometric
2) The solution of the inequality x > +x —2 > Ois
[4] (—0,—1) U (2,0) (—o0,~1]U[2,00)
(—o0,-2)U(1,0) [D] (=00, —2]U[1,0)
3) Find the range of the functionf (x ) = Jx -1.
o) (-] R=(=x)  [Bl[Le)
4) If £ (x)=+/x , and g(x)=tanx?, then (f o g)(x)=
[4] tanx Jtanx  [c]tanvx \;,@’\/tanx2
5) The function f (x)=5x>+7 is :
Even Odd Even and odd »Er; either even nor odd
6) The solution of the inequality lx - Sl <2is
67 BB BT B (=3)U0w)
7) The solution of the inequality Ix - 5[ > 2 is
(.7 B [3,7] El(0,31Ul70) JBT (-0,3)U(7,)

8) The slope the line perpendicular to the line 7y —5x —1=0 is
5 7 » 7 5
a-> @5 J B3

9) The distance between the points (3,—1) and (-3,1) is

W22 [E6 \#l 2V10 Bl 6

10) Find the equation of the line with slope 5 ‘and y —intercept —2 is -
4]y =-5x+2 [B]y=-5x-2
[Cly =5x +2 @/y=5x—2

11) The solution of the inequality —2 <3x —5 < 7is

[41(1,4) [B][1,4] [€1[L4) JoT (14]

12) Find the domain of the functionf (x ) =

x+9
x2—7x +10°
R\{-2,5) R\(-52)  [EIR\[-52)  JBR\(2,3)
13) Find the equation of the line through the point (-1,3) with slope 2.
@y =2x+1 [B]ly=-2x+5 [cly=-2x-1 [D]y=-2x-5




IDIf |x +3|=5, then x =

[4] -8 or -2 BT —8or2 lc]-2or8 [D]2 or 8

15) The equation of the line passes through the pomts( 1,3) and (1, 7)is
y=2x+5 [Bly=2x-5 [c]ly=2x-1 [D]y=2x+1

1 —_—

16)  cotx B

-
cotx JB| tanx secx [D] csex

17) The solution of the inequality 5x +3=3x +3is

4 [40) [BEQLo) L) D] (4,%0)
18) If f (x)=x"+3x —10, g(x)=x +5, and x #-5, then (Ji)(x)z
g

Dxi2  [Bla-x Jelx-2 5] -x -2

19) If cos(x):%, and 0 <x <—72£, then cot(x )=

=37 J7 4
3 7—7— dZ Bz

\@/ZO) Find the domain of the functionf (x)=</x - 2.
= (—0,0) (2] [20)  [DI[-2.)

D) If £ (x)=x>+x2+9,and g(x)=—2x"+1, then (f —g)(x)=
[4]x*-x2+8 Bl x*-x?+10 o x*+3x%+8 [D]x*+3x%+10

22) sec(%j =

NE] 1 /2
nlE 52 ar

x+5
23) Find the domain of the functionf (x ) = \/_— :
x*—2

@ (-5, 2 JU[V2.) B (~02) U2,
|22 B](~2.42)

24) If the graph of the function /" (x )=7" is shifted a distance 5 units to the
downward, then the new graph represented the graph of the function is

7(x+5) 7(x—5) 7x +5 E7x __5

25)If f(x)=x —2,and g(x)=x +5, then (fg)(x)= |
A]x>-7x +10  [Blx*+7x +10  [C]x*-3x -10 @2+3x—10




26) If f (x)=+vx —2,and g(x)=+x +5,then D, is
A=) B[-50) e  Dllse)

27) 120° =
4 57 Sw : 27
Trad. -g—rad. -g—rad. ?rad.

8) — rad=
‘@/1;200 150° 240° [D]300°

29)  [0,5)\(-3,2)=

@ (-30] [B(-30) E(25) JH#A29)

30) sec’x =

@l+tan2x —~tan’x -1  [c] tan’x —1 [D]1-tan*x




